7. Aninsurance company insured 2000 _scooter drive .S, 400%\51(6 ivers and 6000
truck drivers. The probability of an accidents ar nd espectively.

One of the insured persons meets with an accident. What is the probability that
. - . I
he 1s a scooter driver?
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8. A factory has two machines A and B. Past record shows that machine A produced

% of the items of output and machine B produced ¥#0%% of the items. Further,
20 of the items produced by machine A and@roduced by machine B were
defective. All the items are put into one stockpile and then one item is chosen at

random from this and is found to be defective. What is the probability that it was
produced by machine B?
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9. Two groups are competing for the position on the Board of directors of a
corporation. The probabilities that the first and the second groups will win are

anq 0.4 _)espectively, Further, if the first group wins, the probability of

introducing a new product nd the corresponding probability i@the

second group wins. Find the probability that the new product introduced was by
the second group. )
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10.

Suppose a girl throws a die. If she gets a 5 or 6, she tosse@ and
notes the number of heads. If she gets 1, 2, 3 or 4, she tosses a comm once and
notes whether a head or tail is obtained. If she obtained’exactly one heajl, what
is the probability that she threw 1, 2, 3 or 4 with the die?
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11.

v -~
A manufagturer has three machine operators A, B and C. The first operator A

-M.‘ efgctive items, where as the other two operators B and C pro-
duc@ and_7%/defective items respectively. A 1s on the job {i r@)f the

time, B 1s on the job fo@of the time and C 1s on the job fi Yo of the time.
A defective item 1s produced, what 1s the probability that it was produced by A?
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12. A card from a pack of 52 cards 15Tgst. From the remaining

-

two cards are drawn and are found to r@m
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14. If A and B are two events such that A c B and C(B) # 0] then which of the

followmg 1S correct‘? > P(%) ,]
(B - R s
(A) P(A |\g > (8) (B) P(A[B) QP(A) . T_’((%) 7 O
Ay P(A\B)@P(A) (D) None:of these 4= o 9 {‘gv)f
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